BT KR 100 £ 5 E AR LB A ERERA

]|
250 EATREA #B:E M W B |
FRXEH 28 B B(EH—) £36H AL 6 A 2 "
AR o M TR o

1 el THIEE(TREES [EMH] ) 20%)

(1) 27 = ( )10

(2) 31/32 =¢( )2

(3) 156.225 = ( )10

(4) F29B.17D ;6 = ( T

(5) 11100111111.001111,= ( )16

2. FEULBHERET [BMENE I EE (relational database) | 3BFEH » IE#{k(normalization)Z H#Y ° (10%)

3. TR THIME © (10%)
(1) B A BB HH - EE—E AR RSO RL A B « (5%)

(3 12 21 30 .. 192]
2 11 20 29 .. 191
A=[0 9 18 27 .. 189
-3 6 15 24 .. 186
-7 2 11 20 .. 182]

(2) T3 % matlab 230 B -

sum=-32;

u=0;

while sum<1000
u=u+l;
sum=sum-+10*u;

end

(a)sum=? (3%)
(b) LR - WEBITRE? 2%)
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4. B FIIEE © (30%)
(1) Describe the concepts of the following terminologies: (18%)

(A) KM (Knowledge Management)
(B) ERP
(C) BI (Business Intelligent)
(D) sCM
(E) CRM (Customer Relationship Management)
(F) BPR (Business Process Reengineering)

(2) If you would like to apply KM, ERP, BI, SCM, and BPR applications in your construction company to enhance the

management performance, scheme the implementation sequence of these applications and describe the reason. (12%)
5. EMERE(TE [S2E H (cloud computing) | » M2 B FLAHBEFE FI St 2 > B2 o (10%)

6. STETHIEH: (20%) _
(1) #H#8A [ =18 NZEHE(Three-Tiered architecture) | 82 [ 3 £ ZE#%(Client-Server Architecture) | =2 3= B3 B Bl (B 5
Bh e (10%)
(2) #ELA—[web-based BFAXEREARL | B0l #at[ =B REME | AR EMHEE - (FHEGREE BTES) 10%)]




